
SAP ABAP table RIHLOC {Location information transfer structure}

RIHLOC

MANDT [CLNT (3)]

SWERK [CHAR (4)]

STORT [CHAR (10)]

BEBER [CHAR (3)]

COUNTRY [CHAR (3)]

REGION [CHAR (3)]

T000

MANDT [CLNT (3)]
 RIHLOC-MANDT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]
 RIHLOC-SWERK = T001W-WERKS 0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 RIHLOC-COUNTRY = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 RIHLOC-REGION = T005S-BLAND 

0..N

0..N

T357

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BEBER [CHAR (3)]

 RIHLOC-BEBER = T357-BEBER 

0..N

0..N

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 RIHLOC-STORT = T499S-STAND 

0..N

0..N


